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Section A
1 C
a"'vad"? A" 2(a+a_1) a
— = — =a+a =a+—
a a a
2 C
a-b 1 1
a b+2
a—b+l=;
a b+2
2a-b 1
a b+2

Qa-b)b+2)=a
2a(b+2)-b(b+2)=a
a[2(b+2)-1]=b(b+2)
Lo b+2)
T 2(h+2)-1
b +2b
a=
2b+3

A

(98]

4p? —12pg-36+9¢°> =4p* —12pq +9¢> -36
=(2p-39)* -6
=(2p-3q+6)(2p—3q-6)

—-4x+3y= ... 2)
By solving, we have x =5,y =7

Thus,y—x=7=7-5=2
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5.

D
x> +ax—b=(x+b)(x—1)+bx
x* +ax—b=x*+(h-1)x—-b+bx

x* +ax—b=x*+2b-1)x-b

By comparing two sides, we have a =25 — 1.

a—2b=-1
Thus, 2a—4b=2(a-2b)=2(-1)=-2

C
(11.5)(7.5) < 4 < (12.5)(8.5)
86.25< 4 <106.25

A

fBx+1)=3x*—Tx+2

£(5)= G-~ +1)

2
SOREE
J J

Let ¢ be the age of Cathy.

The age of Billy = (1 — 50%)c = 0.5¢

The age of Alice = (1 +20%)(0.5¢) = 0.6¢
0.5¢c+c¢=175

1.5¢=75

c=50

The required sum

=50+ 0.5(50) + 0.6(50)

=105
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9.

10.

11.

12.

13.

B

2

5

=15-9) x—2
Y ( 3)

Note that the coefficient of x* is —9.
So, the graph opens downwards.

Thus, A is wrong.

2 2
y=15-9 x=2] ——o[ x=2| 415
3 3

Note that the coordinates of the vertex = (g 15]

Thus, B is the answer.

C
04,5+1)=0(@4,6)

A

By remainder theorem, the remainder
=f(-2+1)

= f(-1)

=1y =51+ (-1)+3
=-1-5-1+3

=—4

D

Note that k&x + 7y + 9 = 0 and kx — 7y + k= 0 are perpendicular to each other.

yxz2Jx
The percentage change

=[(1+50%)*/(1-36%) —1]x100%

=80%
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14.

15.

16.

C

Qp+2= Gy+1 7+ 2ay

ag=ast2a,

58 =as+2(15)

as=28

Thus, a; = ag+ 2as= 58 +2(28) = 114

D

The volume of B

3
=(l%] x127x
3

=7687 cm’

D

ATUV ~ASPV (AAA)
w_w _1

SP PV 2

Area of ASPV

=8cm
Area of ASUV

= Areaof APTV

=2x2

=4cm?

Area of APQT+ Areaof ASUR
=3xAreaof APTU

=3x(2+4)

=18cm?

Thus, the required area

=(18+6+4+38)

=36cm?
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17. D
Z0CA= ~0AC (base. /s, is0s. A)
= ZACB (alt. Zs, OA4// BC)
Z0BC= ~OCB (base. /s, is0s. A)
In AOBC,
ZBOC +20CB+2£0BC = 180° (£ sumof A)

/BOC+2 2 0CB = 180°
ZBOC +2(2 2 OCA) = 180°
ZBOC+4./0CA = 180°

In AOCD,

ZBOC+-20CA = 105° (ext. £ of A)
Thus, 3 2~ 0OCA = 180° — 105°

0CA =25°

ZBOC =105°-25°= 80°
The required area

80°
360°
2

=7(12)* x

=327 cm

18. B
AB=BC & AE=EF
BEG// FCand CF =2BE  (mid-pt thm.)
DC=CB&FC//GB

DF=FG (intercept thm.)
DC=CB& DF=FG

BG=2CF (mid-pt thm.)
So,

CF=2BE

BG =2CF = 2(2BE) = 4BE
Thus, BE:EG=1:(4-1)=1:3
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19.

20.

D

 BAF =/ AFE = / FED =/ EDC =% =120°
~ FAE :4FEA:w=30°

_EFD =/ EDF= % =300

Since ~ EFD =/ FEA=30° so that GE = GF.

Thus, I is true.

/DEG=_/AFG =90°

GE = GF

DE = AF

So, ADEG= AAFG (SAS)

DG = AG (corr. sides, = As)
~/BAG=-CDG =90°

BA=CD

So, ABAG= ACDG (SAS)

BG =CG (corr. sides, = As)

Thus, IT is true.

sin ZFAG = E
AG
sin30° = E
GD

FG_1

GD 2

So, FG:GD=1:2
Thus, 1T is true.

B

Note that AABC ~ AACD.
/BAC= /CAD = «
Z/ABC = £ ACD =90°

4C = AB _ 1
cosax cosa
CD = tan o - 1 _sina I sina

cosa cosa cosa COS2 a
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21. C

22. D

360°

n

An exterior angle =

4x360° 1440°

n n

An interior angle =

360° 1440°
+
n n

n=10

=180°

Thus, I is true.

Number of reflectional symmetry
=10
Thus, II is false.

Number of diagonals
=C-10

=35

Thus, III is true.
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23.

24.

B
AH? = (24+/5)* - 242
AH =48

48412

Radius 30

Let OH:FD=1:k.

FD = 18k
HG = oG =22
1+k 1+k

OH?* + HG? = 0G?

2 . 2
187 + 12| =[ 39

1+k 1+k
k:i_l

Ji2

FD = 18k=7.980762114

/DBF = tan"| £2
FB

=11.56505118°

ZABH = tan [ 2
HB

=63.43494882°

ZABD = ZDBF + ZABH
=75°

A
Area of AABC.

= Area of ABOC + Area of AAOB

= %(3)(4)sin 30° + %(2)(3)sin 150°

=45
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25. A

Slope of the locus of P =— %

D

y-intercept of L; =— g
J

y-intercept of L, =— %

y-intercept of the locus of P =— % - [f

The required equation

y=—%x—2
D
2x+3y+6=0
26. D

Slope of L; < Slope of L,

Thus, I is true.

0 <x-intercept of L; < x-intercept of L,

O<l<l
a m

a>m

Thus, IT is true.

y-intercept of L, <0

l<O

n

n<0

Thus, 1T is true.
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27. A

2x> 42y + hx+99y+3=0

-

h 99 3

2 2

X“+y +—x+—y+—=0
4 2 2 4 2

Centre = (—ﬁ, - %)
4 4

99
R
h 2-3
- -
4
%+7=12(ﬁ+3)
4 4
%+7=3h+36
4
-7
12
28. C
Expected gain

_3 2+ xs10
1 1

= $4

29. C

Since the mode is 5, then x = 5.

_1+3+4+4+5+5+5+8+10
9

5

Mean

Thus, the removed datum is 5.

New median = % =45
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30. B
p=4><2+5><5+7><2+8+10><2+11+12+m=98+m
15 15
q=m
r=>5

So, p=6%+%>r and 5<g<7=>r<q<7

Thus, I1T is false and II is true.
For I, ifp <gq,

98+ m
>m
15

98 +m>15m

m<7

Thus, I is false.

31. B

11x232 +12x 230 +27 —5x 2%
=11x16% +12x4x167 +3x16
=11x16% +3x16% +3x16

=14x16% +3x16
=E00000030;

32. B
Let y = g(x) be the other graph.
Since the directions of opening of the graphs of y = f(x) and y = g(x) are different.
Therefore, g(x) = —f(x).

1.
In addition, the x-intercepts of the graph are 3 time the other one.

So, g(x) = —1(3x)

27
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|9%]

~
3.

A

50 3

4-3i

_ 50 ><4+Jl—ki
4-3;] 4+3i
=8+6i—ki

=8+6i—ai2,wherek=ai

=8+a+6i

So, the imaginary part is 6.

D

T(n)=313n—-3n"—[313(n—1) = 3(n—1)]
=313n-3n"—(313n—-313 = 3n* + 6n—3)
=313n—3n"—313n+313 + 3n* —6n+3
=316—6n

So, it is an arithmetic sequence.

Thus, I is true.

T(n)>0

316 —6n>0

n<52.67

n=>52

So, the smallest positive term is the 52nd term.

Thus, II is false.

Sum of all positive terms
=313(52) - 3(52)°
=8164

Thus, 1T is true.
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35. D
From the graph, I and II is true.
P(0, k)
O(log,k, k)
R(logyk, k)
OR _ log, k—log, k
PQ log, k
log, k

=S

- log, k

=log;, a-1

Thus, 1T is true.

36. D
2-0
lo —-2=——(og, x-0
gy 0+4( g4 x-0)

log, y= %log4 x+2

1
log, y =log, 16x2

1

2
log, y = log, 16x
2
1
y2 =16x2
y4 =256x
Y
37. B
The ordered pair of (x, y) are (4, 8), (2, 4) and (6, 2) S 3x +y=20
Since the maximum value of x — 3y + £ attains at (6, 2), 2x—y=0
6-32)+k=21
k=21
[
x+2y=10
X
29
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38.

40.

41.

42.

C

Join BE.

/PAB=_/BEA=6 (£ in alt. segment)

< ACE =/ ABE (s in the same segment)
=180°- 60— ¢ (£ sumof A)

C

Let 0(0, )

In-centre = (4, 4)

q* +12* =[(g-4) +8]

g> +12% =(q+4)°

g’ +144=q* +8q+16
q=16

D
Let N be the mid-point of CH.
MN =BC=21cm

EN =122 +16> =20cm

EM =+20%+21> =29¢cm

EN 20
cosf=——=—
EM 29
B
g(x) = fl-x — 2) = —f(x)
Thus, I and IIT is unknown.

11 is true.

C.

Number of ways
= C§ ><C26 ><C§
=2520

2025-DSE-MATH-Ans 1 - 30

©Copyright Logie Tutorial Centre [IIEIPIN www.logic.edu.hk

30

For internal use only




| F.6 Mathematics 2025 Mock Exam Paper | & II

43. D
4
The required probability = i + ﬂ X ﬂ X i +..= Lz = E
52 52 52 52 . 40 69
52
44. D

x; =T(13), x,=T(38)
Since the common difference is unknown, x; > x, or x; < x,.

Thus, I may not be true.

{T(26), T(27), T(28), ..., T(50)}
={T(1) +25d, T(2) + 25d, T(3) + 25d, ..., T(25) + 25d}, where d is the common difference.
So, the inter-quartile range and the standard deviation remain unchanged.

Thus, IT and IIT are true.

45. A
Since the mean of 22 and 26 is also 24.
So, the mean will remain unchanged.

Thus, I is true.

(ay —=24)% +(ay = 24)" +...+ (a9 —24)°
10

(ay—24)* +(ay —24)* + ..+ (ay - 24)> =52

52

New variance

(a; =24)* +(ay —24)* + ...+ (a; —24)> +(22-24)% + (26— 24)*
12

_52+4+4
12

=5
Thus, II is true.

22 <24.5<26
So, the median will remain unchanged.

Thus, III is false.
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